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1 k|d'v k|zff;sLo clws[t 10 k|zf;g ;f=k|= 1 1

2 clws[t 9÷10 lzIff lz=k| 1 1

3 l;=l8=O{ 9÷10 OlGh= l;len 1 1

4 clws[t 7÷8 k|zf;g ;f=k|= 1 1

5 n]vf clws[t 7÷8 k|zf;g n]vf 1 1

6 clws[t 7÷8 lzIff lz=k| 1 1

7 hg :jf:yo clws[t 7÷8 :jf:yo h=:jf 1 1

8 OlGhlgo/ 7÷8 OlGh= l;len 1 1

9 OlGhlgo/ 7÷8 OlGh= l;len 1 lj=cf= 1

10  cf=n]=k clws[t 7÷8 k|zf;g n]vf 1 1

11 clws[t 6 k|zf;g ;f=k|= 3 2 1

12 k=x]=g 5÷6 :jf:yo s=g= 1 1

13 x]Ny cl;:6]G6 5÷6 :jf:yo x]=O{ 1 1

15 n]vf ;xfos 5 k|zf;g n]vf 1 1

16 k|f=;= 5 lzIff lz=k| 1 1

17 ;j OlGhlgo/ 5 OlGh= l;len 2 2

a/xyjf gu/kflnsf, ;nf{xL 

gu/ sfo{kflnsfsf] sfo{nosf b/aGbL t]l/h

14 ;xfos 5 k|zf;g ;f=k|= 5 5



18 dlxnf ljsf; lg/LIfs 5 ljljw 1 1

19 sDKo"6/ ck/]6/ 5 ljljw 1 1

20 cldg 4 OlGh= ;e]{ 1 1

21 ;xfos 4 k|zf;g ;f=k|= 3 3

22 ;=n=k= 4 k|zf;g n]vf 1 1

23 ;xfos dlxnf ljsf; lg/LIfs 4 ljljw 1 1
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1 ;xfos 5 k|zf;g ;f=k|= 8

2 ;j OlGhlgo/ 5 OlGh= l;len 8

3 ;xfos 4 k|zf;g ;f=k|= 10

4 c= ;j OlGhlgo/ 4 OlGh= l;len 10
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